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|. From the above picture what is the patient’s rate!?
A) 120
B) 100
C) 80

D) 60

2. From the above picture we can say that the patient’s has

A) Normal heart rate.
B) Tachycardia.
C) Bradycardia.

D) Irregular HB.
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3. Which of the following is a cause of the above heart ECG?

A) Parasympathetic stimulation
B) Increase body temperature
C) Inspiration

D) All the above



4. Which of the following is a cause of cardiac arrhythmias?
A) Abnormal pathways of impulse transmission through the heart.

B) Abnormal rhythmicity of the pacemaker.

C) Blocks at different points during impulse spread

D) All the above

5. Which one of the following is a cause of sinus bradycardia?
A) Sympathetic stimulation

B) Toxic condition of the heart

C) Parasympathetic stimulation

D) Increase body temperature

6. When the conduction is poor in A-V node. The ventricle has been
escaped, patient is having?

A) First degree incomplete
B) Second degree incomplete
C) Third degree complete

D) Electrical alternant



Answers:
QlI: A
Q2:B
Q3:A
Q4:D
Q5: C

Qé6: C



